KHPb d ¢ m

o Warm Up
1. Convert 5,000 centimeters to
meters,
5000

S50meter &

3. Jamie rain 12,327 decimeters,

many kilometers did he run?

. 12322,
a3 K

How

Metric Conversions
2.

Date:
Jenny wants to pour 483 'rﬁﬁiiiilxi;rgréki;—
poured into a one liter container.

will fhie container overflow?

How many liters is this2

Sandi needs 68.5 grams of sugar for
arecipe. She has .2 hectograms.

S .3

a. How many grams is This?ozog

b. Isit enough for herrecipe? np

Facts to know!

1,000 meters is the same as |

Kilometery.

There are IOL

centimeters in a meter.

It takes 1,000

milliliters to make 1 Liter.

There are _1,000  grams in a kilogram.




Name:

Date;

Unit Conversions (English System)

Distance:
1 mile = 5,280 feet
1 yard = 3 feet

1 foot = 12 inches

To Convert Between English and Metric:

1 inch=2.54 ¢m.

Weight:
] ton = 2,000 pounds Ve

1 pound = 16 ounces

1 pound = 454 grams J

Volume (liquids

| gallon = 4 quarts

] quart = 2 pints
| pint =2 cups

| cup = 8 ounces

[71 quart = 946 mL J

Steps: @ Dmrmihe
A) Dedermine fnal unH,and ma

3) Determine converSion fa
initial 4nit ¢ cbua

Mulhpl
®1Camr65)y-

£ make Sure A ;

7y pa o
¥ '\/{

iniial unit and %uwrhfy
ke a unit plan.

ctoe (5)
agonal

An115S e 7ch x=

Perform the following conversion: mi les 34+
1. Convert ¢ miles fo feet

%t =¥ jal
2. Convert 7 guarts gallons

3. Convert 3,200 inches to miles

th 2 f+ 2 miles

B

wg - a(cy—ﬂxrn min
4. Convert 14 weeks to minutes

s200md 156§ 1 @ilE) 2200 s 14Dk} 7d0ys$ 2t he § GOR)

[

I,Ogmig

l;szwzq& 13300 |1 W [ldcny[ I~

(ﬁH)[cQOr\rU:}



Name:

Date:

Interpret Language in Math Expressions - NOTES
M

ST

Definitions:
Vocabulary Definition Examples
A mathematical phrase that () 5x +F
Algebraic contains operations, numbers,
Expression and/or variables.
(2) 3 -2x +5
Does NOT contain an equal sign.
: A symbol used to re t
Variable present
quantity that can change. *'vn Enaa| x ’3'2 \9
_— A part of an expression. 5%, 7, 3% 2
Separated by “+"” and/or “-" 9
e Tt Terms with the same variables Hx?, bx "
raised to the same exponents.
Costiciint A number multiplied by a variable. L* X 2
Located in front of the variable. v
The number that indicates how 3‘*_ 3.3+3+3 @I
many times the base is being B
EApanE) multiplied by itself o Yk e )
Little # at the top right of a #
° H r“\
:‘het# in a power that is used as a | 3 e
Base Gl GF =30
The big # under the exponent &
A term that does NOT contain a
variable 2t-5y 0‘ e )
COREIOE A # that stands alone constant
Normally at the end
#'s or variables thal are multiplied XX + 4
Factors | 3
Separated by “" KX +2 7
Order of Farentnes ) ”.9’:' A+
Operations PEMDAS  £xponents ( (843 f | I
vt 1) @
Dt 4 ) C
Acldd



Date:

Name: /

An expression W,
Classifying Polynomials = many trmS$

Polynomials are named according to their d@iree and humker o 4€rmS

For a polynomiol_ with one variable, the Terms are separated by ;PI us or

degree is the hl?ﬁS‘t exponent of that miniu

variable.

Degree Name Example Terms Name Example

x 0 |constant 7 ' monomial | 5X

£1 llincakg. | 5x +3 2 pinomial = Qx+5

¥ 2 QuadmatiC |28+ Ax+7 | ° rinomal X +3x+ |
3 Cubic. )(3 -Ix e polﬂnamfa[ x4 +7x7'-3t+$.
Yo Quartic ety -5 PP o cubit potynomijal

+ menomia |

5 Itt.mf" 5 2.3 CenStan
, - ==
G ¢ X" =olx 3 3. x+4 LineaR ®nomial

Standard Form
The terms of a polynomial are in standard form if they are ordered from left fo right in

dQSCU\dmj order; which means from the h ’ghes',' exponent to the
least. :
leading Coefficant

The coefficient of the first term is called the
el )(,3 + X+ q “cubic trinomia

Example: Write 9+ x —4x”in Standard Form:

o > - ] -
Example: Write 3x* -2+ 4x — 5x° in Standard Form: 5x” +43x* tHx -R
“Cubic Polyhomil
Vv

You try:
Polynomial Standard Form | Degree | i of Terms NAME
8x 8 x | ! Lireor Monomial.
3+4x2+2x  |HxP+Axt3 | 2 & Quadrati Trnomial

B oL )(,14' 5)03 R CQuadna.ao Buorual
6+3x%2 —4x —2x* |AxY 43 -yx+lo | Y ¥ Quartic :Pollfnaﬂm-f-

0




Remember Like Terms: two or more terms of a polynomial with the same variable raised to the same

exponent

DistnbutL

Examples: Simplify by following order of operations and combining like terms. Write in standard form.

, \
(7x° —5x+3)§'(7x—4x- +9) f

. 2.8 -x3+8x*-1Ix
2™~ P +x B ARl

lxgﬂaxz =~ ﬂ

1. (4x" +6x+7)+(2x" =9x +1) 2
VW . wWw —— »® 2 \
2 7OBrt3 I HxT-
X™ -3x t§ ~
o)
Cwadratic britnomial @c_’i*_‘ﬁf =12k =g
Lﬂad CUP‘F( (g ( onskand: g (ko ¢ ?oljnorm'al/
DStribute
3. (\EEB+19F:-6-122)+(1—1-22:3}Z+4P3) 4. (v +6v —v) = (9’ =Tv’ +3)
’ W V3P~V —Iv3 +Tvi-3
3 2, ; — ™~ i wv
(OP ""SP P {"‘8V3 ~HBV"‘-\/ = 2
ubic Trinomial
Ceefficents : (2)5)7
bishes !
5. (2x3—3x+5x2—8)‘i_(x3—8x2+11x) 6. 3(—3x3+2x}2r)+(4x3+3x2+2)

3 _ 3 2
“QxC+ X -1+ M P+3x"+2

r:5)<3+5’)cz +pX "IEJ

Cudpic Poljhmm'a-Q_

7. (dxy —x*) - (x*y = Tx* +9xy)

ey X7~ XY +Tx" - axy
-5%Y Hoxz-—xzbj




Applications:

8. Find the perimeter if this is a rectangle:

3 45 ¢
¢ l-Yx

2x? —4x

3x° +5x

—~ o x
p= C‘QW5X) + A7)
P (px? +10x + Yx®-8x

10x?% +2

1N ‘.

9. Find the missing side if the perimeter is

D — x4 T
x2+9x—1
x? —4x .

?
P xi-Yx +X*+9x—1 + 7
Be Oe* BN ~] & v

7T =-1lx +8

10. Find the perimeter: pP= S+S+S

3x + 6 3x + 6

2x-10
P:ZX,"'LD"" 3_)( +(o +§_3C. -10

11. Find the missing side if the perimeteris 8x -5

e —— e

x—4
6x +7

°

P=lx+7+x -4+ 7

U3= 8x+é

= Jx + 3+ 7

Ef—x—z]




Name:

Date: B

Multiplying Polynomials

When multiplying polynomials, use the Aistributives property!!!

: ¥ whoen yow
Examples: m muH‘lpl \/ars'ablé's
. 5(x+6) 2. x*(x+6 30(4 add 'U‘\-er
[5X f301 fx + (a)c ¢xponents ¥

S ik % watch . ouble
= ;x”" == your . . (@) F R istribvhon”
,"EQ)C + 8x° - 4>C“ Sljns X+ 4y -odx =&

e

5. (x%e,)

ol -af tox 27
Y’

7. (2x+5)(x + )
axFrax +5 +30

(26" +17x 430

9. (6b-6)(3b* -2b +5)

w
|53 - 106% +5b - b-30
(L‘Bb3 9%2 r37L‘30)

o 1.
x+4
s
.' ', - |4x+8
"(7;;;;2;23) A= (x+q)(5x+1)
N——~

A> Bx? +X+20x+4

2 +ax -8
6. (X+ Ci)b:B)

2 e 30—
g %]

8. (3x—1)(2x —4)
Nt

(_p)(‘;Z -12x 2w tH

[tox? -tix 41

|
2. = X [(;H.)(XH)
X+6 =-)(_(x,lf3)c+(ﬂ'< f'Z)

\‘+3

© A5, N
\/ X(X +9x ¢18)

28 x* 5 +HOx 180

"__-——

A= 5x° Qx4 |

pe 28x+ Toc 5]



VRadicand Name:
Radicals Notes
1. PerfectSquares 3 . "
(*= | 5* =25 qQ”= gl 137= |9 (7*=289
9> 4 G = 3 10*= 100 4%z (9 (8% =334
31 7" 49 n*z 2l ygr.goe 197 30!
W=l gaLy 127EMY priasL ROTEH09
2. Take the square Root. Find the largest perfect square that goes
evenly into the radic
a. V16 = H d. V32 =£’E M'a
b. v25=_95 e'mJ‘l’B— J!_Q).?
c. V100 = 10 f. V80 =i@ “'D'E

N25+3
GEN,

5. V128

Ny
'NEY

. =5vV12
~5 Y43
5ea{3

-10{3

. V20
75
v
6. When there's a coefficient....

616
ot =2

l 4 ‘,‘.'
X

. 832
—gom

-3-4da
aalg



2
F, 5 w5 £ =X

X *°X
4 (o .
VRadicand x5 xS = X Name:
9. When there's a variable... ‘\/EEX— f Wmnoﬁx‘ﬂ)ﬂﬂn M

Jis0pt  Awnen e dy
gxponent 15, .\/3(, o X% pavedone variable

0T even A
NAG =0 b ct b‘j M +£ar€ U_TLO —— tre vadical ¥
E—L ’(p %@"’Ym% r(px (ﬂxj
1 18k2 12 8712

N2 K {720

lBk@F , Bn@(— |
< Al lehgk
" \[— ﬁan vafljc-tgl_@ 14. Putting it all fogether.”|
J&’?’x‘ Pogff 3V 192x*y7
B e 506525 [yeyf5)
radical ¥ 3‘8)673\!?—_ -
15.2,/98y° 16. 4,/45y6

gﬁm»g"@ “4{a-5°y
m llaj.‘f? “




RADICALS QUIT REVIEW WARM Up

N

Mg A2t s+l (;”r——\/_*ﬁff/:g
2% t 395 t
L2y dbarn SEwa SN2
343 | finyan] | fs’oﬂ% | [ElE]
72\/( 227 - 27 !___6.-—3\/16' I\/E 7',\/_2%-—-4\[6_ _;2\/i(zx/-+3) |
‘&5*9@—?_‘2 “3W - “ y{ig + i3
2o+ W3 - fﬂr’ _3\[‘7_5 -‘:*f_"i_?_‘ ; &r— (_05} |

(2le] 325 [y[s 35
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Classifying Rational & lrrational Numbers

Todgy's Question: What is the result of the product of a rational number with an
irational number2 MCC9-12.N.RN.3

Terminating decimal €hn-+ionS | Non-terminating,

tat arve

E les: ‘

;_Gm LN f—ljje,r over | Non-repeating decimal, or
8 e 875 *"3"“ Non-perfect square radicals
123 ! 2 5 .

Examples:

Repeating decimal or Putern
Examples:

2,415 - -

NOT A
8 =ala or fert :

e
IRE.

V3 ot A Perfect

4 S%lxaﬂl/f

997

Radicals with Perfect Squares

NOT A Rerfect

| B2 ;
3 ¢




Fa ctS ‘[D know
Rationad vs Yrrationol

Bosed on the above information, conjecture which of the statements is ALWAYS true, *
which is SOMETIMES true, and which is NEVER frue?

*- 1. The sum of a rational number and a rational number is rational. 'ﬂjways

The sum of a rational number and an irrational number is irrational.

The sum of an irrational number and an !rFOTIO&OI number is irrational. SO'”

—

The product of a rational number and a rational number is rational. ,q,z,wa.ys

The product of a nonzero rational number and an irational number is nrro‘nonol.ﬁaux?ﬂf
The product of an irrational number and an irrational number is irational. SDWS

2 (& = {1=2a

s
etimeéS

o oA W N



Topic 1 - Unit Conversions

5280 feet = 1 mile 1) A big bowl of Mac and Cheese weighs 80 grams.
0.034 aunces = 1 milliiter | How heavy is itin kgg

0.454 kg = 1 pound
1.6 kilometers = 1 mile 8 | = o Y% g (s
73 gallons = 2 barrels 10 , -

05 quarts = 1 liter 2) A tire is rotating at 120 revolutions per minute.

4 quarts = 1 gallon ’ !

16 ounces = 1 pound Convert this to revolutions per hour.

2.2 pound =1 kg |20@ l O™ - 1200 yv, ‘
| T lZEr) & / o |

3) Acaris traveling 102.667 feT’r per second, how fast is that in miles per hour?

102661 F+_| | mile | b0seC] GOm0 hme
| gec. |5zsoft | Lt 160D hr

4) Sabrina wants to have a pizza party and invite 30 of her closest friends.
She called Papa Johns and found that a large pizza cost $9.50 and is cut

info 8 slices. If she wants each guest to get 2 pieces each, how much'is

she going to have to spend on pjzzo? Show all unit conversion work to

get full credit. endsS | 2511Ce3 i | pzza h
204 | = 705_])1 22aS

’TW | /?SHC&S B

T 1 i ] 1 i i T T T T

I

_ x9S0

Sog

Topic 2 - Identifying Parts of an Expression e T pa gt

1) How many terms are in the expression x3-18x2 + 8x—9¢ L
| | i (

4 rmsS ’

2) Identify and label each of the following for the above expressions

| Name By Degree Name by # of Terms

cubiC pobjmomial 19,8 -9

List the Coefficients | List the Constants

N

3) Simplify these polynomials and arrange in standard form, then name by
degree and number of terms, and state the Leading Coefficient.

Name by Degree: Mo

(363 - 52+ x5 4] + (Ax{+ 20-8)

Name by Number of Terms: @E’j nomq/

Leading Coefficent:

-C-5x2+3x -2

2
Standard Form-:')( ’5)(2 *3\6"12

A S

PR ——"



Topic 3: Operations with Polynomials

Simplify the following polynomials. Write your answer in standard form, and put
a box around your final answer.

1. (3x3=5x2-x+1)—(-2x3-x2+ 3x - 5)
3 2 2
S 5 _)g_/:_l +Q)c3+y\>£ 3 t5
[5X - Hx ™ -y« +(o]

a.

2. taxx 3l S Find perimeter and area of the rectangle.
llox?+20¢+0% +2S™ Simplify completely.
I, ' 2%+ 1
(lox? + 40X+35)
’A\
3. (4x-3)(5x +9)

x+5

Wx>+ 315X 2]
EIOXY +Q,>C‘;7\ ;D:-QCQX_”)'I'Q,é)C“S')

i P = bx4 + x+16

4. (3x-2)(4x2-9x+2) (P (X 12
367t ~gxttlgx -
2 +lox - 8% f
¢ v A= (Qx+l\(’°“'57

Z ,
&3 “gox AN dT‘ = QxFH0x+Xx+S

(A= FtIx +5




Station 4: Radicals

1. v18x?

L:_ng?

3) V24 + 3V54

2o +We

4, -2V5x% — x%5
x5 -xs
["3):1[;

/ -L/ﬁ?]

5. =25 V12

2o
215

7.v2(3V2 - 6)
3.2 -2
L-lz

8. 263x%°
2 Bxfy"/};‘

oy 7x

. T T 13 ]

—F 1 1 T T T T

T

Station 5: Irrational vs. Rational

1. Which of the following is true?

3v36 - V25
365

8-S

13

b) V8 xV2+/7

el K

T

T T T |

A rational number plus a rational number equals a rational number
B. An irrational number plus an irational number equals a rational number
C. Animational number plus a rational number equals a rational number
D. A rational number plus a rational number always equals an integer.

2. Simplify the following expressions, if possible. Then, identify the solution as rational or
irational, and state why this is the case.

L

C) 4+m

d) V7 +V7

True

2 J—lr = 7' B
R



